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S.No. Section A-[Basic skills] 

1 . 

 25

2
 - 

10

1
 = 

 

2. 
2300 x 45.5 x 

15

1
=  

3. 

 

(36 6) x 31.4 = 

4. 

 
Simplify : 

2

𝑥
 – 

3

𝑦
  = 

1

𝑥
 

5. 

 

Simplify   :   x2 - 3x – 4xy 

                            3x 

Sl.N0. Section B -[Chapter based questions] 

 

Marks 

1. Evaluate   : 2 tan 300 

                  1 – tan2300 

 

1 

2. If sin 3θ = cos (θ – 20) , where 3θ and (θ – 20) are both acute angles , then find  the 

value of θ. 

 

1 

3. If 3 tan2θ – 3 = 0 , then find the value of θ. 2 

4. 
If sin (A - B) =  ½ and sin (A+B) = 

2

3
 , 00< A+B < 900 and A>B , then  

find A andB. 

2 

5. In ∆ABC, right angled at A, if tan C = 3 , find the value of sin Bcos C + cos B sin C 3 

6. Prove that 1 + SecA   =   Sin2A 

                   SecA           1 – CosA 

 

4 

7. Evaluate   Secθ Cosec(900 – θ) – tanθCot (900 – θ) + Sin2550 + Sin2350 

 tan 100 tan 200 tan 600 tan 700 tan 800 

 

4 

8. If sec  + tan  = m , show that m2 – 1  = Sin  

                                                   m2 + 1 

4 

9. Prove the following identities 

i) 1-sin         = (sec   - tan  )2 

   1+sin   

ii)(cosec   - sin  ) (sec   - cos  ) (tan   + cot  ) = 1 

 

4 

10. 
Evaluate 4(sin4 300 + cos4600) - 

3

2
 (sin2 600 - cos2450) + 

2

1
 tan2 600 

 

4 
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11. If  cos   + sin   = 2 cos   , show that cos  - sin   = 2 sin  

 

 

 

4 

12. If A, B and C are the interior angles of the triangle ABC, prove that : 

tan   
2

CB 
   = cot 

2

A
 

 

3 

13. If x = a sin 𝜃 and y = b tan 𝜃 , then prove that a2/ x2 – b2/ y2 = 1 4 

 

SECTION C [HOT QUESTIONS] 
 

  1. 
If 





cos

cos
= m and 





sin

cos
 = n show that (m2 + n2)cos2β = n2 

 

4 

2. Evaluate : cos(400 -  ) – sin (500 + ) + cos2400 + cos2500 

                     sin2 400 + sin2 500 

 

4 

 

3. 
If sec   = x + 

x4

1
 , prove that  : sec   + tan   = 2x or 

x2

1
 

 

4 

4. Prove that sec4𝜃 − sec2𝜃 = tan4𝜃 − tan2𝜃 4 

 

5. Prove that 2(sin6𝜃 + cos6𝜃) – 3 (sin4𝜃 + cos4𝜃) + 1 = 0 4 

 

6. Prove that sin8𝜃 − cos8𝜃 = (sin2𝜃 + cos2𝜃) (1 - 2sin2𝜃 cos2𝜃) 4 

 

   

   

   

   

   

   

   

 


